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I BEZHNZDE
1. BETEIRA
ERBEERIRA 4,500 6, 000 -1, 500
ASEIA 58, 000 62, 000 -4, 000
ERB - ZERBAREIRA 28,000 32,000 -4, 000| E£&22, %46
HHLEARSIRA 30, 000 30, 000 03t
KEIA 8, 768, 000 10, 042, 000 -1, 274, 000
ELEREBRA 6, 540, 000 7,232, 000 -692, 000
FESBRBIA 34,000 150, 000 -116, 000|124&*95%
HEBSEREIA 2,194, 000 2, 660, 000 -466, 000|52%1 (6601) *95%
FEIA 18, 714, 000 12,811,000 5,903, 000
FMESBEIA 11, 398, 000 7,610, 000 3,788, 000
DURTDLIRA 2, 340, 000 2,080, 000 260, 000
LEEEIIWNA 1,230, 000 1, 470, 000 -240, 000
ISUD104R A 4, 050, 000 0 4,050, 000{Isup1o
BESIA 2, 455, 000 2,000, 000 455, 000
BRY VRO LA 383, 000 360, 000 23,000
£ YT a7 =Y 3vhv I bYAUR A 940, 000 1,700, 000 -760, 000
EMEREFRSMIRA 1,180, 000 790, 000 390, 000
DURTO LA 690, 000 640, 000 50, 000
LEEEIIWNA 290, 000 150, 000 140, 000
ISUD104R A 200, 000 0 200, 000{1sub10
IREHHIRA 1, 376, 000 1,591, 000 -215, 000
FRFEIA 780, 000 936, 000 -156, 00041100
YURTSYLRXE - TOT 5 LIRA 76, 000 215, 000 —139, 000 | 5ASCEUSBAE 1< 4 L\ 73R 3 D A%
2EFEERXRIE - TOTSLNMA 120, 000 190, 000 -70, 000 |5/ EUSBAL = £ L\ BT % FE D %
HPB /A &S U A 250, 000 250, 000 0
ISUD104R A 150, 000 0 150, 000(1suD10
FREMAIRA 325,000 380, 000 =55, 000|EHiEEH: AE
FLERURA 1,773, 000 2,240, 000 -467, 000
D URT D LHRIERA 550, 000 946, 000 -396, 000
LEFEEIRMIXERA 430, 000 720, 000 -290, 000
SUERE TN 16, 000 23,000 -7, 000
EIGRXEIRA R) 777,000 551, 000 226,000 &= Ic&kYEE
SXEIBEA - BIRIRURA 150, 000 200, 000 -50, 000
FSGRIEBHFHUIA 150, 000 250, 000 -100, 000
ZDMDBFIA 2,512,000 0 2,512,000
ERLEERFES 2,000, 000 0 2,000, 000{ISUD10RS &
ISUD10E %12 & 512, 000 0 512, 000|1SUD10
ERHARZIESIRA 104, 000 20, 000 84,000
HEIEZEIRA 0 0 0
BN UL A (Hh 752 HFEEK) 0 0 0
URA 83, 500 83, 000 500
ZIFE 3,000 3,000 0
URA 80, 500 80, 000 500 [ i ZEE R
FEFHIRAG 27,732,000 23,024, 000 4,708, 000
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2. BEEHXM
BEEXH 21,539, 000 16, 763, 000 4,776, 000
FNEREEEEIH 10, 444, 000 7,030, 000 3,414,000
DURTOLTH 2,745, 000 2,434,000 311, 000
LEFEESXH 1,014,000 1,599, 000 -585, 000
1SUD103Z 4 4,400, 000 0 4, 400, 000|1SUD10Rg;E
EERXH 1,243,000 950, 000 293, 000
BRYURD Y LXH 305, 000 347,000 -42,000
By a7 -YavhvITbyAZ 737, 000 1, 700, 000 -963, 000
FREERTEEEXH 8, 069, 000 8,713, 000 -644, 000
FREXH 5,175, 000 5,375, 000 -200, 000
Fro4 UmXEXH 402, 000 375, 000 27,000(8% (POFF—% M) +BIRIY 24
DURTSY) LR EXH 1,090, 000 1,227,000 -137, 000
LEEERRNEXH 721, 000 740, 000 -19, 000
EGRXEXE 435, 000 393, 000 42,000
PIVANY R T v o X H 150, 000 500, 000 -350, 000
BFT7—H4TIEXH 96, 000 103, 000 -7, 000|J-stagextiis
ZTOMBEEEIH 3,026, 000 1,020, 000 2,006, 000
FPRERESEERN 180, 000 160, 000 20, 000
1Rt 2 —BEBTH 100, 000 140, 000 -40, 000
EFEMEXEEXH 36, 000 20, 000 16, 000
HRREFSHERH 350, 000 500, 000 -150, 000
Xt T A —5 LREBXH 360, 000 200, 000 160, 000
1SUD103Z 4 2,000, 000 0 2,000, 000|1SUD10RS;E
EHEEXH 6,193, 000 6, 261, 000 -68, 000
R FLXH 900, 000 864, 000 36, 000
RERNEXH 140, 000 131, 000 9,000
REXEEXH 75, 000 75, 000 0|14 - BE#NE:, SMHZEE
BEEEH X 252, 000 265, 000 -13, 000
HEREBEXH 160, 000 130, 000 30, 000(at" -F#E, H-1%, XEih
FNRI S A 2 37 203, 000 210, 000 -7, 000 |2 R skt 1R, 1 vy -SAth
%E%%iﬂj 146, ooo 394’ 000 —248, 000 ;ﬁﬁrﬁ*ﬁﬁy WM HEMWY, TWE=a
KEREE T H 246, 000 246, 000 0
EEHXZH 1, 555, 000 1, 555, 000 0
HEBEXH 235, 000 235, 000 0|/ giRMEVS-, T, 5%
HEXH 130, 000 100, 000 30, 000| > % —* v MBKEAEH, A FHHHD
TILINA MM 387, 000 382, 000 5, 000 E2E+% B2 mais
FRXEFRILEHXH 0 0 0
KETTHFRA L 525, 000 529, 000 -4, 000
RFEXH 150, 000 64, 000 86, 000|1t -2 - Y —R% (F%)
ARAFEXZH 314, 000 257, 000 57,000
FREXH 775, 000 824, 000 -49, 000
BEEHIHE 27,732,000 23,024, 000 4,708,000
BEREBNZEZEWN 0 0 0
I #EIHRZOEH
1. BREFHIA
HEEERFIA 1,000, 000 0 1,000, 000[ISUDT0
ER=EEFEEIAIRA 1,000, 000 0 1,000, 000
BEEBINAGH 1,000, 000 0 1,000, 000
2. BEITHIH
BEEERSXZE 1,000, 000 0 1,000, 000[TSUDT0
ERSREHESEIXIH 1,000, 000 0 1,000, 000
BEEHIZHE 1,000, 000 0 1,000, 000
BEEHINKTELEB) 0 0 0
I BEEBINEZOE
1. BAIEEEIA
B HEBURAGT 0 0 0
2. MEEHXH
BEB R e 0 0 0
B 5EBINZ =58 (C) 0 0 0
LIRS ZEE (M) +(B)+(C) 0 0 0
ATEARRBIN T =48 21,188, 637 20, 002, 382 1,186, 255
AR T B8R 21,188, 637 21,188, 637 0




